DIRECTORATE OF SCHOOL EDUCATION

TAMILNADU
TINPCB10 | NEET PRACTICE QUESTIONS | 21 XH
(2023-24) (TEST-10) Total Marks: 240
General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. A satellite is seen every 6 hours over the
equator. It is known that it rotates opposite
to that of earth’s direction. Then the angular
velocity (in radian per hour) of satellite about
the center of earth will be

A) n/3 B) n/8

C) n/2 D) n/4

Lelluwiledr &hmiSHenssHE& aHF Henguley
FLOSVIID  GI60)600TEHC ST 6R60TMI 626 GlGUIT(H
6 Loeoofl GHISTHeD BHeuenT CHTLIQMS
Gev  QFFIEMmE.  eTeflev Ljedlu9l esr
MLWESNS FMJbHS Slemeord Gomerfledr
B MevuTs; &) 6t & G & LD (G L. ULI 60T /L0 6001 |- Ul 6L)

A) /3 B) n/8
C)n/2 D) n/4

2. The escape speed of a body on the earth’s
surface is 11.2 kms™'. A body is projected with
thrice of this speed. The speed of the body
when it escapes the gravitational pull of earth
is

A) 22.4\2 kms™!
B) 22.4V3 kms™!
C) 11.2 kms™

D) 22.4/\4 kms!

el Gumurlitiev spp QuMerflesr ellGILIb
Gausmsld 112 km™' QL&LD. @H QUITIHET @HS
Gaussemns el (PWLLEBIEG GCaussHev
TOWLILOSDS 6Tl SHS QUITHET
el iLiy elenawilledmbal SLILNF QF6vswid
GeussLD

A) 22.4\2 kms!
B) 22.443 kms!
C) 11.2 kms™!

D) 22.4/\4 kms!

3. A planet revolves about the sun in elliptical
orbit. The area velocity (dA/dt) of the planet is
4 x 10°m?s~!. The least distance between planet
and sun is 2 x 10">m. Then the maximum speed
of the planet in km/s is

A) 20 B) 10

C) 40 D) 30

4 x 106 m?s' UL SenFCeaussHlev (dA/dt)
@ G 6T @& flement HeT aul L LIMTemg Uiy
FOM uGH M. Gl s G CoHTEHsELID
@enLlUlL Fmin Qg emeve] 2 x 102 m,
61601160 G&merfledT QLIIHLD Bl FGeussLh km/s 6V

A) 20 B) 10

C) 40 D) 30
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4. Two bodies of masses 4 kg and 9 kg are
separated by a distance of 60 cm. A 1 kg mass
is placed in between these two masses. If the
net force on 1 kg is zero, then its distance form
4 kg mass is

A) 28 cm
B) 26 cm
C)24 cm

D) 30cm
60 cm @emLQeuerfluiev Nl
MUGEHLILIL(HeTemT 4 kg WLMMID 9 kg
BlemMU|6TET @ (H QLIM(H6TSHEHE G @)6emL Gl
1kg Blemm 606U & LGB MS!. 1kg Blemmudleor
158 QWG BI&T allend &Ll ereofley 4
kg BledDUNENBHS Q&6 CBTEn6vE)

A) 28 cm
B) 26 cm
C)24 cm
D) 30cm

5. A satellite is in an elliptic orbit around the
earth with aphelion of 6R, and perihelion of
2R, where R, is the radius of the earth. The
eccentricity of the orbit is

A) 172

B) 1/4

C) 1/6

D) 1/3
R. @pTW6Ter Lellemwl, HeT eulL Limemguilev
FOM QLD M Slemeoorss  Gomerfleor
GFUlemIDBlemey DMMID  600TeMLD  [Hlemey
WemmMGW 6R. LOMMID 2R, 6Tevtl6L &MLl
LITen S U 6T emD IS QS Temn6VE &856)

A) 12

B) 1/4

C) 1/6

D) 1/3

6. A body of mass M is divided into two parts
m and (M - m). Which are then separated by
a certain distance. The gravitational force
between them is maximum, then m/M 1is

A) 1:4 B) 1:3
O)1:1 D) 1:2
M Blemym U] 6T @ QUITHET m

LMD (M — m) 660l @ LMHMHISGHETTS
2 MLEGESULULH GMUNLL Qsmeaevailey
Wgs massluGSng. @eanring
@emLGwuwmenr FHUL  eflendF  QUEHLOLD
67601160 m/M-@) 60T LOGLIL]

A) 1:4 B) 1:3

C) 1:1 D) 1:2

7. If the distance of earth 1s halved from the sun,
then the number of days in a year will be

A) 365 B) 182.5
C) 129 D) 730
Hallssh - Glusis@n  @enl il L

QBMEMEVe| LUTHWTES GHeMMESHLILIL LT
6217 IT600T (1) 6T60T LIS 6T&HSH6M60T HITL_GH6IT?

A) 365 B) 182.5

C) 129 D) 730

8. The speed of earth’s rotation about its axis is
o. Its speed is increases to x times to make the
effective acceleration due to gravity equal to
zero at the equator. Then x is

A) 17 B) 1

C) 34 D) 8.5

w &HPMH&F Casside Lall HaT FF 6
FLONRPMSI. B(H 6UEN T G&ITL1960
QMG LWeT LTl elemaFenl &ulms
WTOHMISNHTE 5T Galdkld X MG
5 &flEsLLBGSR S 6Tefl6V x 60T DG LIL

A) 17 B) 1

C) 34 D) 8.5
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9. Four particles of each of mass m are placed at
the vertices of a square of side ‘I’. the potential
energy of the system is

w2 )
- szm( i)
me(

E

1
-2 )
_1>
V2

v Bemepaiter FSITSS) 601
eLpemevelL L Mg 66V HTeoTS SI56T56T
MEUG G LIL (H 6IT6menT. 6@ U6 Blemm m
eT6vflev @ 5SS eMLDLILNGIT BlemevulmmHMeY

e )

ey

D) _ﬁlam<

0 )
o-Lp<{s )

10. A space ship is launched into a circular orbit
close to the surface of the earth. The additional
velocity now imparted to the space ship in
the orbit to overcome the gravitational pull is

A) 8 km/s

B) 1.414 x 8 km/s

C) 11.2 km/s

D) 3.2 km/s
Liel Gumurllins S HH 6V
all_LUUmenguiev 611 600T 85 6V 60T 6260TM)]
gauliLGRma. ey aflemsemnul
HLES &HHM UTnSUIN6D 69 600TEH 606018 S
Fn(hH6VITEH GULDMRIGLILIL @61 600T L9 UL
FlenrgFGeussLn

A) 8 km/s

B) 1.414 x 8 km/s
C) 11.2 km/s

D) 3.2 km/s

11. In order to shift a body of mass m from a
circular orbit of radius 3R to a higher orbit of
radius 5R around the Earth, the work done is

A) 3GMm B) GMm
GMm 2GMm
©) D) “1sg

m r_r‘ﬂemmu_wrrm @[H QLITIH6EMET 3R QLI LN6TeT
el el L &mm umensuiledmbg  5R
SLTWPETET SHHMILILITENSE G MHMIUSMDHE
QFWWLILmGLD Calemey

GM m 2GMm
©) D) “Ts5r

12. Three identical point masses, each of mass
I kg lies in the x - y plane at a point (0,0)
(0,0.2m) and (0.2m,0). The gravitational
force on the mass at the origin is

A)1.67x10° (i+) N
B) 1.67 x 104 @+ ) N
C)3.3x101 ()N
D)3.34x 10 i+ N
X -y SeM&H6L (0,0) (0,0.2m) WMHMID (0.2m,0)

eTeoTm  LleTerflgmerfley  speu@eumedTmild 1 kg
BlenMUIETET eLN6TMI 625G LiaTer] Blemmaseir

MUSGSILOTRME  eefle enmDUWSHH6V
2 atem mlemmuiledr 158 QFWLLIGILD Le
FLy ellems

A)1.67x10° (+)N

B) 1.67x 10 (i+ ) N

C)33x10°(G-)N

D)3.34x 10 (i+j) N

13. A satellite is revolving around the earth with
a kinetic energy E. The minimum addition of
kinetic energy needed to make it escape from
its orbit is

A)2E B)E

C) E/2 D) \2
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SI6TEHCHTET 660TM E  6Te0T) QUIGHSH
OOl  Lelemw &mal eGSR M.
&7 FHmILI UTenguledmhas ellGuL (b
QFVN FMG Fa(hFH6VMEH CHemaullLi(hLD
GODHSULEF QUSS 5MMeV

A) 2E B)E
C)ER D) \2

14. The gravitational field intensity at a point
1000 km from the center of the earth is 3.9
Nkg'. The gravitational potential at that
point is

A)-1.95 x 10° Jkg™!

B) 3.9 x 10° Jkg™!

C)9.8x 10° Jkg!

D) 3.9 x 10° Jkg'!
L&l emwSH e ®BHE 1000 km Q& memevedlsu
2 66 e Ll6merludley FFy Ll Ljevd Q& nleil 6ot
&L 39 Nkg' ereofley  olieTerfluiley
& 60160116076V 2, MMEO60T LOH)LIL]

A)-1.95x 106 Jkg!

B) -3.9 x 10° Jkg!

C) 9.8 x 10° Jkg!

D) 3.9 x 10° Jkg''

15. A comet orbits the sun in a highly elliptical
orbit. Which of the following quantities
remains constant throughout its orbit?

(1) Linear momentum
(11) angular speed

(ii1) angular momentum
(iv) Kinetic energy

(v) Potential energy
(vi) Total energy

A) (), (ii), (iii)

B) (iii), (iv), (v)

C) (iii) and (vi)

d) (ii), (iii) and (vi)

QML  BLFSHID et  Gilwener
Wasuauilw BHeT eul Ll umemsuilev &mom
AUMBMG eTevfley BLp Q&THI&SLILIL (H6TerT
LI6OOTL|&6TTI60 eTemel &60T SMHmILI LIMTens
(DWEUSILD IDTMITLO6 @) (H& G LD
() CBEICHTL( 2_ LD
(i) @ ImevoT GEUssLD
(i) @& T6oOT 2_[H& LD
(iv) @UIGHEH L,MMeEV
(v) Blemev bMHMeV
(vi) QLTSS DMV

A) (i), (i), (iii)

B) (iii), (iv), (v)

Q) (ifi) LDMHOILD (Vi)

d) (ii), (iii) LH@ILD (Vi)

CHEMISTRY Q.No. 16 to 30

16. To estimate the amount of sulphur by Carius
method, the reference compound used is

A) MgSO,
B) BaSO,
C)Ag,SO4
D) CaSO,

s iflwen Wenmuiley FeusLIMT Si6ThH& Ml
LwetU(® D GLMESTeT G&FJLOLD

A) MgSO,
B) BaSO,
C) Ag,504
D) CaSO,
17. Molecular formula of sodium Nitro Prusside
A) Na, [Fe(CN),NOS]

B) Fe, [Fe(CN),],
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C) Na, [Fe(CN), NO]
D) Na, [Fe(CN),]

GEFMQUILD eMBL GIITLHENFLL60T eLA6V S Fa M
eumuIum@)

A) Na, [Fe(CN),NOS]
B) Fe, [Fe(CN),],
C) Na, [Fe(CN), NOJ

D) Na, [Fe(CN),]

18. In the detection of chloride ion test, the gas
evolved chromyl chloride has formula

A) CrOCl,
B) CrO.Cl,
C) CrO,+Cl,
D) Cr,0.*+Cl,
GGatmeng(®H  Sjweoflemus  &evorL LD

Grnsameruilsd QeuefllIL@LD &G menLo6y
&GaTmen (b 6UITU|6UT6OTSI

A) CrO.Cl,

B) CrO,Cl,

Q) Cro+,Cl,
D) Cr,0.2+Cl,

19. For the accurate estimation of Nitrogen, the
best method used 1s

A) Kjehldahl
B) Carius
C) Dumas
D) Lassignes

MBLTRYeMeT  SeeOWIDMES  Sj6ThSmiw
LiweTL(HILD (emm

A) Q86VL_IT6V

B) G&ifluleiy

Q) (H\Lomeny
D) 6VITH & 60T6MY

20. Soda lime test is used to detect — element in
an organic compound

A)C B)H
C)N D) S
@ &IfInFCEFTING S sVl 6Ter 6TIH S

&60f1L0 8 6008 856007 L Wl @& ITL_IT &+ 600T600T ITLDL |
GFmgement LWeTLGHHMSI?

A) C B) H
ON D)S

21. In Kjeldahl’s method, the nitrogen present
in an organic compound is quantitatively
converted into

A) NH,
B) Ammonium nitrate
C) Ammonium Phosphate

D) Ammonium Sulphate
Q&BELLITEL (MUl 6MBHLIR6T 2 6TeT
&fllng  GFILOLDTETS GEJONTS
WLrHMLLGSMS.

A) NH,

B) oLDGWmesflwib empBL G

C) &JGLmeoflwild LimenGLIL

D) b GLomeoflwith Feu@LIL.

22. Which of the following separation techniques
1s used to separate a mixture of acetone and
Methanol?

A) Simple distillation
B) Steam distillation
C) fractional distillation

D) Vacuum distillation

Copyright @ THE ALCHEMIST CONSULTANCY



G GLITeT MMID QLGS EHETITEV &HeVHS
FHevemeuenl LNiflgsliuweru(mim &iflumeor
wenm

A) TULEFS allg 5560

B) Bymel aumemev alg.& 860

Q) LY edTeuTeU Tem6V 61198860

QUITEM 6V

D) G0OMHSH ~ AWSHHSH 6L

6U1Lq & 56V

23. When thio urea is heated with metallic
sodium, which of the following compound(s)

are formed
i) NaCNS ii) NaCN
ii1) Na,S iv) Na SO,
A) 1 and iii

B) iii and 1v
O) 1, ii, & iii
D) iv only

2 Goums  ComqwsSsILer  SCwmw,iluim
CersH sl QauliLIUbh&SILD Gumgl,
G LD 55 600TL 6T&F G & [JLO(LD) BB 6T
2 (HUTHRIMSI?
i) NaCNS ii) NaCN
i) Na,S iv) Na,SO,

A) i LDMHMILD ii

B) iii LDMMILD iv

Q) i, i, &iii

D) iv lDL_(HLD
24. Concentrated sodium hydroxide can separate

a mixture of

A) Zn** Pb*
B) AI** Zn*
C) Cr® Fe**

D) AP Cr

Niflés 9Ly GEFmqWd emaml Fmsens ()
LweTU®SmSI?

A) Zn?* Pb?*
B) AP+ Zn2*
C) Cr® Fe**
D) AP+ Cr3*
25. Na,CO, Cannot be used to identify
A) CO» B) SO*

C) SO* D) SO

Na,CO,-88 LWeTU(OSSH SHLh&HHeoTL THS
3jwleoflem W &HeooT(HLINNG&H & (LOLQWITSI?
A) CO,> B) SO,

C) SO*= D) SO,*

26. Which one of the following will not produce
a precipitate with AgNO,. Solution

AT B)F

C) PO, D) CO>

LletreumeneoreummieT  61&  AgNO, 2 L.6or

6D LI 6 60)60T 2_600T L T8 8 MS5I?
A) I- B) F

Q) PO D) O,

27. Phosphate radical withammonium molybdate
gives precipitate of which colour

A) Violet
B) Pink
C) Canary Yellow

D) Green
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IILDGLomeoflWwiLD LTS GLL o 60T
LIMenGLIL. 9julef] 2 (peurms @ eflbLig edleor
Blon_ .

A) 2a1g T (6T) S G 1L,
B) @ 6meh&FleullL]
Q) ssmeotifl LDEHF 6T

D) LFe &

28. By passing KMnO, gas in acidified H,S
solution, we get
A)KS B) S

C) MnS D) MnO,

ojflev H,S Hemggedley KMnO, eumujemeus
QFNSHSID CUME QUMLUILI(BeUSI .
A)K S B) S

C) MnS D) MnO,

29. Lead sulphate is soluble
A) In con HNO,
B) In con. HC1
C) In con. H,SO,

D) con. HF
QeVLFMGCULEML  &HMJHSHL LillerLi(hiLd
dlevLd

A) SILT HNO, B) @JL[J HCI

Q) 9L H,S0, D) SILIJ HF

30. Nessler’s reagent is used to dectect

A)C,0> B) Cr0,>

C) Cr,0> D) NH,"
QmBevevy  ellemeTLIQUMT@meT 8
Gevor_ Ml LweTL G SmSI.

A) C,0,> B) CrO,

Q) Cr,0> D) NH,*

| BIOLOGY (BOTANY) Q.No.31t045 |

31. Identify the meiotic stage in which the
homologous chromosomes separate while
the sister chromatids remain associated at
their centromeres.

A) Metaphase |

B) Metaphase 11

C) Anaphase I

D) Anaphase I
WHwr&erdletr 6rbs Blemevulley @& enFa]
GCrmGmBamh WiflEsman FresmsIifl

GCrmMLl QFerlCrmuilw@mLer C&FIHS
& meoor L1LI(h LD

A) QoL LBlemev |
B) QoL L_TBlemev I
C) oeTmHlemev |

D) Sjeormblemev |l

32. Dissolution of the synaptonemal complex
occurs during

A) Pachytene
B) zygotene
C) diplotene
D) Leptotene

FleormLIGLMeofIlney QG MGLILY
QSMLEIGLD Bletev

HEMELUIS

A) L& S e 60T
B) enF&HCSHITL LR 60T
Q) 19 L1G6VITL_ LR 60T

D) Q6VLIGLITLe 60T
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33. Regarding meiosis, which of the statement is
incorrect?

A) There are two stages in meiosis, that [ and I1

B) DNA replication occurs in S phase of
meiosis-II

C) Pairing of homologus chromosomes and
recombination occurs in meiosis — |

D) Four haploid cells are formed at the end of
meiosis-I1
wm&en g Liuen_uilev LeTeu@mLd 6THS
FaD Ml &6UMITEOTSI?

A Bwr&edev 1, I
Bl606V&EHET 2_6Teg).

eTeoTm @) yevor(H)

B) wm&lerv M-601 S mlemeuudleb  DNA
NS Qu@LIL BenLQLUMSMSI.

O) Wwm&en -6V R5H NEF6
GCrmELTGFMLD @) 60 600T CF J&H 6V
DM MILD LD M) G L LG 60)600T6)]
BHeOLQLMR M.

D) BT sRMHemMm DU Q&F6V&6T LWITEFI6en
11-60T @MIH UL 2 HeUTHMmS.

34. Mitotic anaphase differs from metaphase in

A) Same number of chromosomes and same
number of chromatids

B) Half number of chromosomes and half
number of chromatids

C) Half number of chromosomes and same
number of chromatids

D) Same number of chromosomes and half
number of chromatids

OIOL_LITI) & 3|60oTIMSGLI6N,
QUL LTSCUeS 68 mHS! eTel UMM
CaumiLGRMmsI?
A) @CT GBI MGLOMG&TLD & 6IT 6T600T6001 1 860 8
LOMMILD 6Gy GCIMLOMYL_&6T
6T600T600T 1 &> 60) &5

B) GGIMGLOMTGEFTLDG6IT 6T600T6001 1856008 Ul 6L
Ums LOMMILD &CIMIOMIQ L &6
6TevoT600 B 6m B WL LIME)

C) GCIMGTECEFITLDG 6T 6T600T6001 18560085 UIl6L
Umgs wmmib Gy G&GITINMQ L &6t
6T600T 6001 | 55600 &>

D) 2@y &SCrmGLMTEGEFMDG&ET
6T600T600T | E56M 85 LDMMILD &G TLOMIYL S6IT
6TevoT6001 1 S 6m B UT 6L LIS

35. Which one of the following never occurs
during mitotic cell division?

A) Spindle fibres attach to kinetochores of
chromosomes

B) Movement of centrioles towards opposite
poles

C) Pairing of homologus chromosomes

D) Coiling and condensation of the chromatids.

L9) 63T 6 ([ 61 60T 6 (D) D 6T THS G (DO
6MIDL_L_ITIQ & Q&6 LIGLILN60
1560)L_G) LI MI6) & 6060 6V7?

A) GCITGDTGE LD &5 6rfl 60T
M G6TLGLITGSHTH 6rvLI6oTIq 6V
BT 8 @HL60T 6L 19.86) &5 T6IT ) 60T M 60T

B) Q& 6o L_IflGWImTeL & 6iT TRQATH T
SI(HEUHIGEH S S QLUQUWIEFR
2|60)L_53) 66T M 60T.

Q) R&5HnFa)] GCITCLMEFTLDG6T
@) 60 600T G& [J 5\ 60T M) 60T.

D) GGIMLOMY L_&H6T & (HETHETTEHELD

GMI&E (P |60) L5 60T 60T.

36. During which phase(s) of cell cycle, amount
of DNA 1in a cell remains at 4C level if the
initial amount is denoted as 2C?

A) G, and G,
B) G, and S
C) Only G,

D) G,and M
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QFev FLPMmFAUWleT bl Blemevuiley DNA
gleTaumeorsl 2C, Q@QFS D 6TEUTETS  6THS
QFev &HPMT Blemev(Serflev)ulley 4C eT6dTM
IemallGevBl 2_6Terma?

A) G, LDOHMILD G,

B) G, LDMHMILD S

Q) G, LI

D) G, oMb M

37. At what stage of the cell cycle are histone
proteins synthesized in eukaryotic cell?

A) During G2 stage of prophase

B) During S-phase

C) During entire prophase

D) During telophase
WesIGWMLI9s: QFusefle 6hs Q&6
FPMmE& LgBlenevuiev anflevGLmeT L&D
2 HUSGH QFUWLLRSHMmS!?

A) 4CImeGL6nN G2 mlemeuulley

B) S mlemevuilev

Q) UGIMGLIe (LWeUSILD

D) 1e BB Blemevuilev

38. Find out
Phragmoplast

Incorrect  statement about

A) It contains Microtubules Actin Filaments.
B) It forms cell wall of plant cell

C) It is a essential structure for the cytokinesis
in animal cell and plant cell

D) Microtubule of phragmoplast fuse with the
plasma membrane during cytokinesis

pmaGumiiermerv® serflesr g liLemLullev
NeTeupld  Fammisefled Heummerensd s
&600T LMl U6 LD

A) @aumMl6L  Hi6ooT60l | 6MLDG6T 2,819 60T
@) 60L& 6T &ITevor LILI(hILD

B) @ emeU SMaUT Q&F6L 2_(HeUMTHGR M.

Q) HMaUT Q&F6v LnMMILD efleuslE C&6vedledT
&L CLMen&HTFan0&E& C8 606Ul 6T
5B WTeUT W emDLILITEGLD

D) em&FL_CL Tt & 60T FlerdledT LIS
LNgmaGLomLiermen (b & erfleor
5160076001 60L& 6T LINGTITENLOIT &616)L_60T
(9) 6v)600T 5\ 65T ) 60T.

39. Statement I : Nuclear envelope did not
disappear in closed mitosis

Statement II : Spindle formation takes place
outside the nuclear envelope in closed mitosis

A) Both the statements are false
B) Both the statements are correct

C) Statement I is correct and Statement II is
incorrect

D) Statement I is incorrect and statement II is
correct

Famm | epiuwl el LT&Headller 2 L&
F 616 06D MEUS 6V 66V

GOl 1l NIl el LT&Herdlev & T8
@enp&Eer 2 UL &M Falealm@ GeleflGu
2 (HUTHRME.

A) @TeoT(h G D MISEHLD &Fif]

B) @ U600T(h) & HMISEBHLD SHeuml

0) Samm | &ifl DHWID o) Il Heuny

D) SaMmmi | Heum LDHMID Snmm Il &if]

40. Spliting of centromere takes place in which
of the following stage of mitosis

A) Prophase
B) Metaphase
C) Anaphase

D) Telophase
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LledTeu [mLD el L m&erdleor THS
Blemevuley QEeTGrmdlwy LleTeymisev
H60 QLIS M SI?
A) LG M GLI6n
B) QLOL_LMeGLi6n

C) ojeoTmeGLien

D) le@eumeGLiehy

41. More complex stage of Meiosis is
A) Metaphase |
B) Metaphase 11
C) Prophase 11
D) Prophase |
&6 b Fl&asevmeot WWMTE 6N mlemey
A) QL Lm&@uen |
B) QDL L Me@Lien I
Q) UGpmaGLien i
D) LG mMeGL6 |

42. Failure of Immediate cytokinesis after the
karyokinesis leads into

A) Disappearance of Nucleus
B) Multinucleate cell
C) Uninucleate cell

D) Non nucleate cell

GaIflGWITen) & 60T T 61V
&L CLITe0) 8 60T & 61V
6T60f16L 2_(Heumeu g

1660 LG LIM M6 L_60T
H60 LG Lmellevemev
A 2 L &@® wanmbsiall (kb
B) LIV 2_ L& Q&F6V
Q) @@ 2_L_5(h Q&6

D) 2 L &([H @ 6Vemev

10

43.In which stage of cell cycle take long
duration?

A) Mitosis

B) Cytokinesis
C) Both A and B
D) Interphase

QFev SHMFIUIT 6THS Blemev AUH S

HMTVHMS 6T(h &S &HOHITETEHLN?
A) emLOL L& ey
B) 60 & L_GL_IT60 & 60T &l 6NV
C) A LbmMmILb B
D) @) 6mL_&& 6V Hlet6y

44. The complex formed by a pair of synapsed
homologus chromosomes is called

A) Bivalent
B) Axoneme
C) Equatorial plate

D) Kinetochore
R5H NTF6 ‘ . @Ggr.rczmrr@&mhassﬁ
@apm Q&qmgm EAGULD 2 ([HeNTGSLD
G LeOWLILEHG eTeoTl GILIWIIT

A) 60)L16)T6V600T L

B) &8 GenmiBLD

Q) WSS (h

D) em&H6oTL_GL MG
45. Number of chromatids at metaphase is

A) Two each in mitosis and meiosis

B) Two in mitosis and one in meiosis

C) Two in mitosis and four in meiosis

D) One in mitosis and two in meiosis
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QL LmGuenvmlemevulev &GCrmGLoLY.L & erfledr
6T600T 6001 | 8560 85

A) el Lm&erdlev wmmib  Wwm&endlev
&eurm @ evor(

B) emOLLM&erdlev @ revor(p LOMMILD
WHwm&lerdlev spedTmi

O el Lm&erdev  @revor(h LOMMILD
W& endlev BTeoTS

D) emloL_ L m&lerdlev 6260T M LOMMILD
Wwimr&erdev @ evor(h

| BIOLOGY (ZOOLOGY) Q.No.46to 60 |

46. Assertion (A): On touching radial artery in
our wrist, we feel pulse waves.

Reason (R): The heart beats originate from
the sinuatrial node (SA node) on the right
atrium.

A) Both A and R are true, R is the correct
explanation of A

B) Both A and R are true, but R is not the
correct explanation of A

C) Ais true, R is false

D) Both A and R are false

Fadml (A):  LD6vol1&L_19.60 o _6iTer
Grwev swelleoow QFHTHWL  QUTWSI
BITSSIG LIL&6T 2 oot LGS mSI.

&ITI600TLD (R): QWS  SIQLILITrS
@QsWsHar alvg  aflea&Hefley 2 eTer
T afla@eony ssoiaflev (SA node)
2 (HUTHMS.

A)'A lnmmild ‘R @reoor(md &Ifl, 'R’ eTedTLIS
‘A et Fifluimeot eNl6emE &0 QG LD.

B) ‘A L0MHmMILD 'R’ @evor(HLd &FiflwimeoTeme,
QL6TITeL 'R’ eTeoTLIGl ‘A efledr &Frflulmeor
aflemg: a1 @)6Vemev.

Q) 'A FflWMeTl QL60TMT6L 'R’ S6UMITEOTS!.

D) ‘A lommild ‘R’ @ evor(hLD &6)UMITeoT60)6)

47. Which type of white blood cells are
concerned with the release of histamine and
the natural anticoagulant heparin?

A) Monocytes
B) Neutrophils
C) Basophils
D) Eosinophils
&1 &6 MemlLD QUSS
QeueTemeTwemis&Herfley,  amlervL LleTaseT
LOHYD  QUHds  QUHES  2mmey
THTLIQUITH6TmeoT  (natural  anticoagulants)
e L1 ifleor Qeuerfluilsv Bl & L6l 6v

QSTLILI6ML I 6TSHI?
A) GLOTGeoTmen &FL_(h & 6T
B) Blw,l_CrmsLleuaser
C) GUBFM&LINGL &6

D) F & GeoT e L6V & 6T

48. Initiation and Regulation of heartbeat is
indicated by

A) AV node — Bundle of His — SA node —

Purkinje fiber
B) SA node — Purkinje fiber — AV node —
Bundle of His
C) Purkinje fiber — AV node — SA node —
Bundle of His
D) SA node — AV node — Bundle of His —
Purkinje fiber
QWS SIQLIL] STOUTL6Y SleUdH&HIOLD
QBIILILOSSISD @eueumm!
I560) LG\ LI G 65T D &1?

A) AV sl — anlenerdledt &memm — SA
&l — LT&Heredl Briflemip

B) SA &sm — UFH TSl Briflenp — AV
&H&vl — anjlenuendleir &menm

O urGeredl Brflenp — AV S — SA
&80 — amlenvenler &Menm

D)SA &H&ml — AV SHsml —  anjleverdler
&Hmhenm — LT eredl Briflemip
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49. Identify the correct statement

A) Globulin maintains the osmotic pressure of the
blood

B) Albumin facilitates the transport of ions,
hormones and lipids

C) Prothrombin involved in blood clotting
D) Fibrinogen assists in immune function.
FrlWmeT Samenm &evorL_ M8

A) GGermLeller @S5S 60T 26an(h&HeVLIL]
HWS555MS DlIFURSE M.

B) ojwlenfl&em, ammIGOMeTsH6T  LDMMILD
QE&EMWLUIL S weaimenm  ,L6uL]dleor
GLESSHRMI.

Q) UCrmsrmLliledr @UsHSD 2 60m& 6060
LmRICEHEMB TS

D) &6 LIl GeoTmegesr
L6186 2 5aRmal

GBITUl  eTHFLILY

50. Which of the following antibiotic drug
should be administrated injection to the
Rh-negative mother immediately after the
first delivery to prevent erythroblastosis
foetalis?

A) Heparin
B) Interferon
C) Rhocum
D) Warfarin

erifl&BrmUilemmervGLmerdleny SLTLmedleny
(erythroblastosis foetalis) 6TeOTEILD  GUETT&([H
@I58 FaullLiem Flensg el CHmemuwl HeNlFaHs
WwsL NpFasHm@&L LT 2 Leriqulms
Rh  QB&LIGE STUSHG eHreleneorll
QUITBETITET HLNH&HTEID  6T1HS  LDIHHII
2ar & UIl60T eLNEVLD QFISSLILIGR MSI?

A) emjlCiLmiflesr
B) @)60TL_[J &G LI 60T
Q) GIm& &L

D) eum LIl eor
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51. The condition in which the obstruction of
the blood vessel by an abnormal mass of
materials such as a fragment of the blood clot,
a bone fragment, or an air bubble is called

A) Embolism
B) Aneurysm
C) Bradycardia
D) Tachycardia

QUss BraThsale 2.ommbs QUSSSH
SIFES, TN SIFWES, HTHOSHSLOLD

GLImeoTm QUL &S LOIT (D IT60T
QUITIHETSHETITEY QU555 [5T6IT BI85 671 6V
Ll gmu@m  Blemev @ euelmm
MP&EELILBH S

A) eTlbGuUmel&FLh
B) GBS BTETLI 60 LILITE&LD
C) LNJImTIQ&ITITIQ U

D) CL&HSMFLQWIT

52. Which of the following occurs in maximum

concentration in blood plasma?
A) K" B) Mg*™
C) Ca'™ D) Na*

@55 Wermeumnmaley T &LLF Qamlalley
&ITevor LILI(heu &l 61817

A) K* B) Mg?*
C) Ca* D) Na*

53. Blood samples are usually taken from the
veins rather than artery because

A) High pressure in the veins
B) low pressure in the veins

C) The walls of the veins are to withstand high
pressure.

D) The walls of the veins lack valves.
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@655 WTHFle6T 6T(H & Hlneoflsemer el
FensGeT FIMHHemel, 676 6oTenT160

A) Blemgullel QUES SAWSSD S &S
@ GLUUGIT6V

B) Glemrulleh @UsHs AHWHSD GmMEITS
@ BLILIST6V

C) Slem Ul 60T Fr6U 56T 4 F & (PSS S 05
SITHIGLD HmedT QLM mI[HLILISS TV

D) AlemgWiledT &eulSeT  6UTeLE|&HeTmHmI
& meooT L1LI(H 6 &6V

54. Match the following columns and select the
correct option.

Column- | Column-II
(P) Eosinophils (1) Immune response
(Q) Basophils (i1) Phagocytosis
(R) Neutrophils (i11) Release = histaminase,
destructive enzymes
(S) Lymphocytes  (iv) Release granules

containing histamine
@ ©Q ® O

A) ()  (v) G) (1)

B) (v) (1) (1) (i)

¢ ® G) (@Gv) (i)

D) (i) () (@i (iv)

giflwimesrelHenm CHIHOSH &SI
QUMHSHSI&H
QETGHS) - | QETGH - I

(P) FHIBET T LI6V&6IT — (i) HEOLHTLIL
SI6VMHISH 6V

(Q) CUBEFTSLINL&ET — (i) AF6L (MG 56V

(R) BIW,L_GrmsLlevas 6T
— (i) enjlerv L LAl GevTeny,
L& GLD
QBTH &6
Qeueflul (R &6

(S) BTN &L () &6iT
— (iv) amlerv Ll 6ot
Q & ITevoT L
&1 &H6TH 6T
Qeueflul(h & 6ev
P Q (R (S)
A) @)y (v) (i) (1)
B) (v) () (if) (ii)
QO (ii) (iv) (i)
D) (i) (i) (ii) (iv)

55. Name the blood cells, whose reduction in
number can cause clotting disorder, leading
to excessive loss of blood ?

A) Erythrocytes
B) Leucocytes
C) Neutrophils

D) Thrombocytes
6IhS @QUHSH CF6V6T  6T6o0TE00 | E6M 5
GMEUTY @QUHH 2 emmGEe0l6 GomeTmm
JOULQ), S1H) & LILIg W6t QUSS
QL& el & LIn?

A @65 G658 S 6T

B) @& & Gl6)6Tem 6T U 650185 61T

O) Blw L CrmsLIl6uase6rT

D) SIFmCUTen &L (H &6

56. Identify the parts 1 to 5 of the smear of
peripheral blood shown in the diagram below.
3

Erythrocyte * .
BT
5
S3i—Platelets
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A) 1. Neutrophil 2. Basophil 3. Lymphocyte
4. Eosinophil 5. Monocyte

B) 1. Basophil 2. Eosinophil 3. Neutrophil
4. Monocyte 5. Lymphocyte

C) 1. Neutrophil 2. Eosinophil 3. Monocyte
4. Basophil 5. Lymphocyte

D) 1. Basophil 2. Neutrophil 3. Lymphocyte
4. Eosinophil 5. Monocyte

FPEHTEOIN @THSLILLESH alemTLLSH 6V
1 Wwsev 5 eueguwlevmer UGHEeme6r
S|60) L UIITEITLD &IT600TEY LD

aiﬁﬁ@ﬂnmaﬂ% 00%— 3
1 Q@ &
q X

5
@ a Br555 HLGoen

A 1. Bl Grmsliey 2. GUEsFMsLley 3.
D &BUTe &L 4. @GCWITR GeormssLI6v 5.
GLmGeTmen &L

B) 1. CuUGFmaLlev 2. @QCWTH GeormaLilev
3. BIWLGrmsLliley 4. CLOTGTTENEFL. 5.
b &BUTenFL

O 1. Bl L Crmsliléy 2. @CWME GeormsLi6v
3. GumGermengL. 4. GCUGFMSLI 5.
D &BUTen &L

D)1. CGuGFmsLilev 2. mBlwL Crmaiiey 3.

D &BUTeEFL 4. @CWTH Ceorma L6 5.
GLTGeTTen &L

57.In which of the following situations,
there is a risk factor for children getting
erythroblastosis foetalis?

A) Mother is Rh™*¢ and father is Rh™°
B) Mother is Rh¢ and father is Rh*"*
C) Mother is Rh™* and father is Rh™¢

D) Mother is Rh** and father is Rh*"*

14

GLLHNSHHEHEH G 6T fl&CTmLIemmeruGL merdlen
SLILmedley  (euemies@m @QUs5s  Feulilisl
Flemge) CHML) gHUBSDSTET LIS
&mgevoll  LedTeu@Bld  6THS  GLblemeuuiley
o _6Tengl?

A) STl Rh™ LommILD &Hems Rh-

B) &MU Rh- LoMMILD &HHend Rht

C) &MUl Rh* LDMMILD HHe?Y& Rh-

D) &Ml Rh* LomMmILD &Hems Rh*
58. Serum differs from blood in

A) Lacking globulins

B) Lacking albumins

C) Lacking clotting factors

D) Lacking antibodies

QUI5555 0 EmHa i)

CoumuGRME!

6TeUGUTMI

A) GCermLed6dTSH 6T ©)6L6V TS (HS 556V

B) 6L L|LOl60TE 6T @)606VITH) (15 & &6V

C) QU555 2 ME 5 & ITJ6001 1 56T
QLTH BS S 6V
D) 94,6071 LG LITLY. & 61T (7B TellemeorL

QUIT(HETE6T) &) 6V6EVITH) (HE 56V

59. Which one of the following human organs is
called the graveyard/cemetery of RBCs?

A) Gall bladder
B) Kidney
C) Spleen

D) Liver
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LYereuLd Weofls 2 miliLsefley 618 @T&6HS
Falliussseflear  @O&MTH/ 8S56V6Venm
6T60TMI S|P SHHLILIGR MSI?

A) YgsLienL

B) ®aubrssid

C) LnevoT600f T6V

D) &606576V

60. Person with blood group AB is considered as
“universal recipient” because he has

A) Both A and B antigens on RBC but no
antibodies in the plasma

B) Both A and B antibodies in the plasma

C) No antigen on RBC and no antibody in the
plasma

D) Both A and B antigens in the plasma but no
antibodies

AB @55 eUemSUemLLL LD6TSH6T “QuUTS!
QUMIBE” 6TeoTM eMLP&HELILI(H6US M S ITE0T
& ITIJ600T LD

A)RBC-60 A OMMIID B 9L60TLQ 260TSH6IT
o eitemeor  gpeormev Llemmevinmedlev
SL60TLQ LITIY &H6IT ) 6V60I6V

B) LleTmeiunmediev A LDMMILD B
SL60TLQ. LITLY &6IT 2_6T6T60T

C) RBC-6V  L60TIQ 60T @6V6DI6V  LOMMILD
LeTmerunmeNl6l &u,6T1q LIMLY &)6V6M6V

D) Wermerviomeilev A LD MHMILD B
SL6OTIQ Q60THET 2 GITEME0T 60T 6V
QL60TIQ LITIY & 6T ©) 6V 6016V
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